2011_mdtrm_b

9%?%
1) A P\mr\mr O‘o\jﬁcj 1S CJTU\SPQA( wdh to hard Q,\a{m.

The Coefficrent of fchimn ot both Contach @irﬁrs s 10,

| | 5
OA nd o \oc,mtuy\,\ ‘Ca(‘ /\ ay,
cortbact @ suda ‘H\a}r /

G ?:‘P\Y\%QrQA ijb\S() [f\OLS

WCHAWW& 100Fm O\oSUWQ .

B ot :
@ Vow know contoct D s Sovmewhere. on edge 4
but \%S Wé\&e locx\'\‘m\ \(5 V\O‘\‘ ICY\MV\- F—\V\O‘ a WC\;/\‘&Q
( ej{m\ on the ?D\ﬁ P Such “Hhot placi ng contact @)

(M\éf) Ohng. N thet Q&ﬁ@i'
reﬁimj wl| ’GOFW\ G &x /\/
Gosp witk Fichmad —

®
{orm chosuce .



2. S how ambjnc'a\\j

Hhat  the gasp shown o

'H/\l ﬂch‘ doe_\g y\(j\‘ \,\&\j&
Lorm Closuce

> T 7
| Jﬁ%
g A he
E’ﬁ B P‘.SW\(A, C 1

<—3 ——251

Codacr A (M\QHB $ o soth {:\r\'g&r C()Y\JV(AUQ-
ijmc)k L Cb\r\ (‘@\Jﬂ 15 G \r\am\ £ «\8@( CdV\*?O\G\ .

6N Constrnck G & J using +the (y-2) refeconc fame chown



b} for H\i CO(FQC/JY G OU\OQ J/ bases OQ ‘H’\Q WQWW‘ ol

Spaces an o 5
:\/\ O\ O o
0 5 o g
@[ MEle Nl o T
o 0
0 0 X ¢
- 0 T i

-~

0 OW\()kmt& JV\UL ’P\c/ﬁ\re L)&\o\/\)) Le. (Amlf;{\j *H\L oh N’\“m P
of the vanows subspaces

Y, Gapp € .

aaaaaaaaaa



for the naxd two ()vob(ﬂms You YYHS\/\JY find e ’QDUOW\}\é
ﬁVkQV\‘\’H'\.ﬁS L\ﬂ/\‘){;w\ .

f/o o 21 © =924 O i (OT
05 © O 0 O o )
T+ _ 0O ®) 0 0k i 0
JG = 0.3 —0.b . GN(\) ): \
-0.8 0 O 0 © 06 )
oS o o o o O 0O
L
L° o 2 o - o |
ro " O ®) | (‘) i [ @) /‘
Ep
0 4 L W, 45 O %
5hy © © 0O o -5h T el
G0)-10 o 0o o o o© JN@G)= 113
56 0 O o 0O Y i
10 4h A Y, ¥ O | | © ]

Y A T
g)(/{se tha Fe/\cujr\mf\s»\i@s T=J ) and Qage™ G 4o

defermng  which a'o\'njr fz)fZ[v\LS do not OL\AY\@L m O esponse
o changes i dhe indernal  weench .



P . ]
d.) Use Hha (e/\cujr\ms\mgg T=J ) and Jage™ G Ho

Aeterming w}m}}\ C/(WV\(DY\QY\‘\ 0@ 'H\L oderne WY\CJ«
cannot be  cont ollad 193 aAst%%\j Ob{r\Jr %qv\@

(40 v¥3

4—) A thc_u (s close +0
citedan and Lvwalr
obstacles (Kr+y- > R*

amd xé*ﬁ}.

a.) ASSU\YY\L/(,&:O/ VY\:\(\’* 1

Dekecning W, v, and pr ab t=) amd t=2,

6g
Lg/\%um(r\ﬁ /{A(//M-Lyé O guwe e AQ’?\'(\’\’\\’DV\S of
Gy 6o, B UL M, and 8 for he st e shep,

C@.@ What s the s12¢ of the LCP F bt obstacles are
lr\c_o(‘()m"oérﬁék OLY\O\ ‘F{“\é;h&r\ iS V\O+ ‘Z—Q(‘OZ

aaaaaaaaaa



